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Problem 5c Plot cos(TTmx)

ME 564

cosipi™m™x)

Verify orthogonality for cos(rimx) and cos(rnx) for (m,n) pairs:
(1,4)

(2,6)

(3,15)

clear all, close all, clc
dx = 0:.01:1;

$For m,n pair (1,4)

m=1;

n=4;

f=cos (pi*m*dx) ;

g=cos (pi*n*dx) ;

A=trapz (dx, f.*qg)

$For m,n pair (2,6)
m=2;




n=o;

f=cos (pi*m*dx) ;
g=cos (pi*n*dx) ;
B=trapz (dx, £.*q)
$For m,n pair (3,15)
m=3;

n=15;

f=cos (pi*m*dx) ;
g=cos (pi*n*dx) ;

C=trapz(dx, f.*qg)

Command Window Output:
A=
4.5103e-17
B=
-3.4694e-17
C=

-1.1796e-16




